#### Aberdeenshire Council

#### Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

5,782 4 1,157

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Yvonne ALLAN	Scottish Labour Party	336
Laurie CARNIE	Scottish Conservative and Unionist	619
George CARR	Scottish Conservative and Unionist	1,217
Alison Elizabeth McBean EVISON	Independent	623
Shona EWEN	Scottish Liberal Democrats	377
Douglas FRASER	Scottish Green Party	194
Diane Elizabeth LAURENSON	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	52
David Allen NEILL	Independent	75
Kevin STELFOX	Scottish National Party (SNP)	1,677
Dave STEWART		513
Leigh WILSON	Alba Party for independence	99
	Total	5,782

Candidate George CARR Elected with 1,217 votes, being in excess of the quota of 1,157 Candidate Kevin STELFOX Elected with 1,677 votes, being in excess of the quota of 1,157

Ward 19 - Mearns

This report contains the transfers results.

# Stage 2 - Surplus of Kevin STELFOX

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Yvonne ALLAN	181	0.31007	56.12267
Transfer to Laurie CARNIE	19	0.31007	5.89133
Transfer to Alison Elizabeth McBean EVISON	128	0.31007	39.68896
Transfer to Shona EWEN	115	0.31007	35.65805
Transfer to Douglas FRASER	585	0.31007	181.39095
Transfer to Diane Elizabeth LAURENSON	13	0.31007	4.03091
Transfer to David Allen NEILL	34	0.31007	10.54238
Transfer to Dave STEWART	107	0.31007	33.17749
Transfer to Leigh WILSON	231	0.31007	71.62617
No further preference	264	0.31007	81.85848
Not transferred due to rounding			0.01261
	Total		520.00000

This report contains the transfers results.

# Stage 3 - Surplus of George CARR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Yvonne ALLAN	21	0.04930	1.03530
Transfer to Laurie CARNIE	878	0.04930	43.28540
Transfer to Alison Elizabeth McBean EVISON	97	0.04930	4.78210
Transfer to Shona EWEN	43	0.04930	2.11990
Transfer to Dave STEWART	70	0.04930	3.45100
No further preference	72	0.04930	3.54960
Not transferred due to rounding			0.00190
	Total		60.00000

This report contains the transfers results.

## Stage 4 - Exclusion of Diane Elizabeth LAURENSON

Transfer to Yvonne ALLAN Transfer to Laurie CARNIE Transfer to Alison Elizabeth McBean EVISON	2	4 00000	
		1.00000	2.00000
Transfer to Alison Elizabeth McBean EVISON	13	1.00000	13.00000
	6	1.00000	6.00000
Transfer to Shona EWEN	3	1.00000	3.00000
Transfer to Douglas FRASER	4	1.00000	4.00000
Transfer to David Allen NEILL	1	1.00000	1.00000
Transfer to Dave STEWART	8	1.00000	8.00000
Transfer to Leigh WILSON	8	1.00000	8.00000
Transfer to Yvonne ALLAN	2	0.31007	0.62014
Transfer to Alison Elizabeth McBean EVISON	1	0.31007	0.31007
Transfer to Douglas FRASER	1	0.31007	0.31007
Transfer to Dave STEWART	1	0.31007	0.31007
Transfer to Leigh WILSON	1	0.31007	0.31007
Transfer to Laurie CARNIE	1	0.04930	0.04930
Transfer to Douglas FRASER	2	0.04930	0.09860
Transfer to Dave STEWART	1	0.04930	0.04930
No further preference	7	1.00000	7.00000
No further preference	7	0.31007	2.17049
Not transferred due to rounding			0.00000

This report contains the transfers results.

#### Stage 5 - Exclusion of David Allen NEILL

87.23258

etago e Exercisión el Baria / men 112.22			01.120200
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Yvonne ALLAN	2	1.00000	2.00000
Transfer to Laurie CARNIE	7	1.00000	7.00000
Transfer to Alison Elizabeth McBean EVISON	22	1.00000	22.00000
Transfer to Shona EWEN	4	1.00000	4.00000
Transfer to Douglas FRASER	16	1.00000	16.00000
Transfer to Dave STEWART	12	1.00000	12.00000
Transfer to Leigh WILSON	6	1.00000	6.00000
Transfer to Yvonne ALLAN	3	0.31007	0.93021
Transfer to Laurie CARNIE	1	0.31007	0.31007
Transfer to Alison Elizabeth McBean EVISON	9	0.31007	2.79063
Transfer to Douglas FRASER	5	0.31007	1.55035
Transfer to Dave STEWART	8	0.31007	2.48056
Transfer to Leigh WILSON	2	0.31007	0.62014
Transfer to Yvonne ALLAN	2	0.04930	0.09860
Transfer to Laurie CARNIE	2	0.04930	0.09860
Transfer to Alison Elizabeth McBean EVISON	1	0.04930	0.04930
Transfer to Shona EWEN	4	0.04930	0.19720
Transfer to Dave STEWART	3	0.04930	0.14790
Transfer to Leigh WILSON	1	0.04930	0.04930
No further preference	7	1.00000	7.00000
No further preference	6	0.31007	1.86042
No further preference	1	0.04930	0.04930
Not transferred due to rounding			0.00000
	Total		87.23258

Report Name: Transfers\_V0001\_Ward-19---Mearns\_06052022\_172045.pdf Created: 06-5-2022 17:20:45

This report contains the transfers results.

## Stage 6 - Exclusion of Leigh WILSON

185.90148

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Yvonne ALLAN	7	1.00000	7.00000
Transfer to Laurie CARNIE	6	1.00000	6.00000
Transfer to Alison Elizabeth McBean EVISON	24	1.00000	24.00000
Transfer to Shona EWEN	6	1.00000	6.00000
Transfer to Douglas FRASER	18	1.00000	18.00000
Transfer to Dave STEWART	14	1.00000	14.00000
Transfer to Yvonne ALLAN	21	0.31007	6.51147
Transfer to Laurie CARNIE	1	0.31007	0.31007
Transfer to Alison Elizabeth McBean EVISON	23	0.31007	7.13161
Transfer to Shona EWEN	7	0.31007	2.17049
Transfer to Douglas FRASER	99	0.31007	30.69693
Transfer to Dave STEWART	17	0.31007	5.27119
Transfer to Laurie CARNIE	1	0.04930	0.04930
Transfer to Alison Elizabeth McBean EVISON	1	0.04930	0.04930
Transfer to Dave STEWART	1	0.04930	0.04930
No further preference	38	1.00000	38.00000
No further preference	66	0.31007	20.46462
No further preference	4	0.04930	0.19720
Not transferred due to rounding			0.00000
	Tetal		405.004.40

Total 185.90148

This report contains the transfers results.

#### Stage 7 - Exclusion of Yvonne ALLAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Laurie CARNIE	26	1.00000	26.00000
Transfer to Alison Elizabeth McBean EVISON	51	1.00000	51.00000
Transfer to Shona EWEN	117	1.00000	117.00000
Transfer to Douglas FRASER	43	1.00000	43.00000
Transfer to Dave STEWART	25	1.00000	25.00000
Transfer to Laurie CARNIE	8	0.31007	2.48056
Transfer to Alison Elizabeth McBean EVISON	35	0.31007	10.85245
Transfer to Shona EWEN	44	0.31007	13.64308
Transfer to Douglas FRASER	54	0.31007	16.74378
Transfer to Dave STEWART	15	0.31007	4.65105
Transfer to Laurie CARNIE	5	0.04930	0.24650
Transfer to Shona EWEN	10	0.04930	0.49300
Transfer to Douglas FRASER	2	0.04930	0.09860
Transfer to Dave STEWART	2	0.04930	0.09860
No further preference	85	1.00000	85.00000
No further preference	51	0.31007	15.81357
No further preference	4	0.04930	0.19720
Not transferred due to rounding			0.00000
	Total		412.31839

This report contains the transfers results.

## Stage 8 - Exclusion of Douglas FRASER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Laurie CARNIE	16	1.00000	16.00000
Transfer to Alison Elizabeth McBean EVISON	60	1.00000	60.00000
Transfer to Shona EWEN	77	1.00000	77.00000
Transfer to Dave STEWART	22	1.00000	22.00000
Transfer to Laurie CARNIE	4	0.31007	1.24028
Transfer to Alison Elizabeth McBean EVISON	135	0.31007	41.85945
Transfer to Shona EWEN	132	0.31007	40.92924
Transfer to Dave STEWART	90	0.31007	27.90630
Transfer to Laurie CARNIE	1	0.04930	0.04930
Transfer to Alison Elizabeth McBean EVISON	1	0.04930	0.04930
Transfer to Shona EWEN	7	0.04930	0.34510
No further preference	100	1.00000	100.00000
No further preference	383	0.31007	118.75681
No further preference	7	0.04930	0.34510
Not transferred due to rounding			0.00000
	Total		506.48088

This report contains the transfers results.

# Stage 9 - Exclusion of Dave STEWART

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Laurie CARNIE	81	1.00000	81.00000
Transfer to Alison Elizabeth McBean EVISON	192	1.00000	192.00000
Transfer to Shona EWEN	99	1.00000	99.00000
Transfer to Laurie CARNIE	3	0.31007	0.93021
Transfer to Alison Elizabeth McBean EVISON	82	0.31007	25.42574
Transfer to Shona EWEN	33	0.31007	10.23231
Transfer to Laurie CARNIE	32	0.04930	1.57760
Transfer to Alison Elizabeth McBean EVISON	10	0.04930	0.49300
Transfer to Shona EWEN	4	0.04930	0.19720
No further preference	222	1.00000	222.00000
No further preference	120	0.31007	37.20840
No further preference	31	0.04930	1.52830
Not transferred due to rounding			0.00000
	Total		671.59276

This report contains the transfers results.

## Stage 10 - Exclusion of Shona EWEN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Laurie CARNIE	94	1.00000	94.00000
Transfer to Alison Elizabeth McBean EVISON	207	1.00000	207.00000
Transfer to Laurie CARNIE	15	0.31007	4.65105
Transfer to Alison Elizabeth McBean EVISON	97	0.31007	30.07679
Transfer to Laurie CARNIE	25	0.04930	1.23250
Transfer to Alison Elizabeth McBean EVISON	8	0.04930	0.39440
No further preference	382	1.00000	382.00000
No further preference	219	0.31007	67.90533
No further preference	35	0.04930	1.72550
Not transferred due to rounding			0.00000
	Total		788.98557